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(X4 1] (15 2)

To solve xy'=y2+y, y(2)=4

(3248 2] (15 %)
Tosolve (x2D?+2xD—6I)y=0, y(1)=0.5, y'1)=1.5

[ 3] (15 %)
Solve the initial value problem using Laplace transform method:

y,==2y,+3y,
, , y,(0)=4, »,(0)=3
{y2=4y1—y2 1() 2()

[RAm 4] A5 %)

For which values of @ and b do the following system have:
(a) No solution.

(b) A unique solution.

(c) Infinitely many solutions.
2x+2y+3z=4
2x+3y+az=>5
3x+4y+5z=>b
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f=)c4+y2 +z, 17=(x+y)2i"+z:]'+2yzlg , where 1,] and k are unit
vectors. Find

(a) Vfat(4 -1, 3);

(b) V/;

(c) vV [

(d) curlv;

(e) Directional derivative D, f at (3, 0, 2)

(X% 6] (20 %)

(a) Find the Fourier series of the following periodic function

-1 if —-7<x<0
f)= 1 if O< x<m and f(x+27)=/(x)
1 1 1
(b) 1—§+'§—"'7‘+ ...... :‘7



